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Topic:- General Knowledge and Logical Knowledge

1) Founder of the Holkar Dynasty / W AR & TRITD O
1. Malhar Rao / HegR XId

2. Bana Misra / ST 89T

3. Baji Rao / STSIRT

4. Madhav Peshwa / ATd ORIl

Correct Answer :-

e Malhar Rao / HegR R[4

2) Which state has the longest coastline in India? / HIR<d H foa g &1 qYg dc a9 |dl %?
1. Andhra Pradesh / S{T[ U=

2. Maharashtra / HERTY

3. Gujarat / [SIRTd

4. West Bengal / PIEEEUIN]

Correct Answer :-

e Gujarat / T[SRTd

3) Which instrument is Ustaad Amjad Ali Khan associated with? / 3¥&dTq STHGIQ 3relt @™ fod

IR | "l §2
1. Sitar / RIAR
2. Veena / dTOTl
3. Tabla / A&
4. Sarod / TG

Correct Answer :-



e Sarod / Wi

4) If JKLMNO is coded ACTVSRX, then how is MILLION coded? / af¢ IJKLMNO &1

ACTVSRX ¥ Sif$d forar &rar1 8, 9 MILLION &) $3 Sifed forar S
1. SAVVARX
2. SAVVAXR
3. STAATXR

4. SATTARC

Correct Answer :-

e SAVVAXR

5) Kanha National Park is located in / PTGl QT@TT I Uel R B:
1. Bihar / f98R

2. Tamil Nadu / Hiﬁ?ﬂ]g

3. Andhra Pradesh / 3{f8f Tc=T

4. Madhya Pradesh / H&J PER

Correct Answer :-

o Madhya Pradesh / H&J e

6) Where is the automobile industry cluster of Madhya Pradesh? / & yer o Gﬁﬁﬁm I
Sl PId 87

1. Mandideep / Terdy

2. Malanpur / HITTYI
3. Maneri / H_1

4. Pithampur / tﬁ?ﬂ?ﬂ?

Correct Answer :-

e Maneri/ Iﬁﬁ

7) B.R.Ambedkar was born in / &Y. 3R, [dSHI BT T+ FHgl gaIT UT?
1. Ujjain / S
2. Mhow / H3

3. Shajipur / QII\_YHFR



4. Bhojpur / ﬂ-ﬁTrI'ER

Correct Answer :-

e Mhow /H3

8) The famous holy place, Kedarnath is located in ./ 9 ufeT w4, FERATY
T H YA g

1. Uttar Pradesh / IR USRI
2. Uttarakhand / S@RRAS
3. Odisha/Gé K3

4. Madhya Pradesh / H&] LR

Correct Answer :-

e Uttarakhand / ScRGS

9) The Indira Gandhi National Tribal University is located at / B'm TR ?TgTq EEEIGIE

fayfaemea wgl RG22
1. Katni / @et
2. Amarkantak / 3HRbch

3. Rewa /@l
4. Bhopal / arard

Correct Answer :-
o Amarkantak / (AR CH

10) The major portion of the Mahanadi river basin now lies in i 'FIFFIﬁ Tt & IR
o1 g fewn 3| ug

1. Uttar Pradesh / TR UG
2. Chhattisgarh / @T‘ﬁﬂ'ﬂ_@
3. Madhya Pradesh / ¥ e

4, Jharkhand / IRGS

Correct Answer :-

« Chhattisgarh / BTG

11) Who is the Vice-President of India? / HRRd & ¥ 37 JPUfA H1 82



1. Najma Heptullah / STHI %'ﬁc_vﬂ%'
2. Hamid Ansari / _E:T&l_d ST

3. Venkaiah Naidu / &1 g

4, Ram Nath Kovind / H 1Y ?ﬁﬁ‘q’

Correct Answer :-

« Venkaiah Naidu / 3631 I

12) Two dice are thrown simultaneously. What is the probability of getting two numbers whose product

is odd? / &) Ui TS 1Y B M| Y TN HaR MM B 1 HHTGAT @ o1 uHw e faww 812

1

6
1.

1

4
2.

3

4
3.

1

2
4,

Correct Answer :-

13) Who is the Chairman of the UPSC? / W & A&l CaC| %?
1. Vinay Mittal /ﬁtﬁfﬁﬁ‘lﬁ

2. Archana Nigam / GﬁhTﬁTl'q

3. David Syiemlieh /@ﬁg%ﬂ?ﬂ?

4. Alka Sirohi / 3fcep] RRIgI

Correct Answer :-

» David Syiemlieh /%ﬁ@;%ﬂ?ﬂg



Who is the Union Minister of Women and Child Development? /111%31 3R 911 fapT oY B g w=h
PITE?

1. Maneka Gandhi /ﬁﬁ?ﬂTﬁ‘éﬂ
2. Uma Bharathi / 3HI YR

3. Smriti Irani /Wﬁf%?lﬁ
4, Nirmala Sitaraman /ﬁﬁ%ﬂ?ﬁﬂ'm:l:f

Correct Answer :-

e Maneka Gandhi /'EIWTIT?.?[

15) Find the odd one out: / T% fquH JTd HIfoT;
2, 4, 10, 15, 26, 35, 50

1. 35
2.15
3.50

4.4

Correct Answer :-

16) Rajeev ranked sixth from the top and forty first from the bottom in a class. How many students

were there in the class? / U H&T A Isild 1 ¥ Y T Tod! U1 1 A SHaciad] g | STPT PaiT
Hpd fpaa s A2

1. 47
2. 46
3.45

4. 48

Correct Answer :-

17) In a certain code language, My sweet heart means cel agase xena, Mango is sweet means agase
mnkol sey, Mumbai is costly means Bomba sey deara. Which is the word for mango in that code
language? / Udh W IS YT ﬁ, My sweet heart BT 3 % cel agase xena; Mango is sweet BT 3ref
agase mnkol sey, Mumbai is costly BT 3{ df Bomba sey deara ﬁ?ﬂ %I £ PIS HIUT H mango * ﬁl"’{
5 wIsg &1 swauTa forar T @2

1. agase



2. deara
3. mnkol

4. xena

Correct Answer :-

e mnkol

18) Which is the oldest refinery in India? / WRd & Ja8 RTT Ui oft (Rwrg=h) F 3 3
1. Digboi refinery / TSTTaTg URHRON (RwBTERY)

2. 10C refinery / 3TS 3N ufesmRon (RT3

3. Mathura refinery / Y1 GREHRUT (RB1ZRY)

4. RIL refinery / 3R3MS TS R (RBTEY)

Correct Answer :-

» Digboi reﬁnery/%”@éqﬁWﬂ (Iicﬁls:ﬁh

19) What is the value of x and y when, 39x52 + 278y = y2y3x? /ﬂﬁ' 39x52 + 278y = y2y3x, o x qUT y
BT A T FI?

1.3,4
2.4,2

3.6,4

4.6,3

Correct Answer :-

20) Complete the series choosing the missing number: / T JWT DR AT BT [T

Hifore:

1, 6,13, 22, 33,
1. 44

2. 46

3.47

4. 45

Correct Answer :-

. 46



21) Complete the series choosing the missing number: / T JWT TABT YT B TR

HIfore:

6, 11, 21, 36, 56,
1. 81

2. 51

3.42

4.91

Correct Answer :-

« 81

22) Complete the series choosing the missing number: / T JWT DR YT BT [T

FIfoe:

2,3,5,7, , 13,17
1.11

2.4

3.10

4.12

Correct Answer :-

23) Select the option that is true about the Statements and Conclusions given:
Statements:

No spoons are plates

All forks are spoons

Conclusions:
I. No forks are plates
I1. Some spoons are plates

| 39 faweq o1 7= P WP T 7T YT 3R fAepel & ar ¥ w8 &:
BY;

IS TE We T8 2

Tt wie g

fored:



I IS el @We T8 &
II. $ 999 We 8

1. only conclusion Il follows / Had sy || WW%

2. only conclusion | follows / Had sy | &WW%

3. neither conclusion | nor conclusion Il follows /:fﬁﬁ'ﬁb_ﬁfl ShT:[éTﬁEFEf I G{WW%
4. both conclusion I and Il follows /ﬁmv_ﬁfl 3R 11 gl &WW%

Correct Answer :-

« only conclusion | follows / &Had Y | &IT:NTUTWT%

24) Select the option that is true about the Statements and Conclusions given:
Statements:

All stars are satellites

Some satellites are planets

Conclusions:
I. Some planets are stars
II. All satellites are planets

| 39 faweq o1 99 P WP T 7T YT 3R fAepel & IR ¥ wd 2:
BY:

Wit AR IuvE §

FOITITTT©

fored:

LPOTEARE
I1. 9 STIg ug €

1. only conclusion Il follows / Had fspy || WW%

2. only conclusion | follows / Had sy | &@TUTWT%

3. neither conclusion | nor conclusion Il follows /#eﬁﬁmmh GﬁT:TBQTﬁWEF Il &IT:NTUTW%
4. both conclusion | and Il follows /ﬁ'@lﬂfl AR T GF:NTUTW%

Correct Answer :-

e neither conclusion | nor conclusion Il follows /:TE?fﬁWEfI GﬁT:TﬁﬁWé I &IT:NTUTW%

25) Select the option that is true about the Statements and Conclusions given:
Statements:

All sarees are dresses

Some chudidhars are dresses



Conclusions:
I. All dresses are not sarees
Il. Some dresses are not chudidhars

1 39 fareu &1 9g91 FIE Sife 2T e Hy=) 3R eyl & IR & I8l 8:
DY:
At gae

FOTSRR 9A B

e
1 gt 3 A 8T @
I PO ST YIIGR eI 3

1. only conclusion Il follows / Had B |1 G@TUTWT%

2. only conclusion | follows / Had fspy | WW%

3. neither conclusion | nor conclusion Il follows /qﬁﬁ'@ﬁﬁfl @Tqﬁﬁ@ﬁﬁf Il G{WW%
4. both conclusion | and Il follows /ﬁ'EFGfI 3Rl ﬁmﬂ%

Correct Answer :-

 neither conclusion | nor conclusion Il follows /qﬁﬁlﬁlﬂfl &?IT:[ﬁﬁEFEf I &WW%

26) has been declared as the cleanest State in India by the NSSO Sanitation Survey
conducted in 2015. / 2015 ¥ AT TATHTH SN W31 A& GIRT & HRd # 99
a3 g UiiNd foar T g1

1. Uttarakhand / STRIGS
2. Goa /Th?ﬂ

3. Kerala /aﬂﬁ

4. Sikkim / fifeRpH

Correct Answer :-

. Sikkim / fafg®mH

27) Election Museum is located in / gﬂﬁﬁm
1. Delhi / fawelt

2. Mumbai /H‘@l‘é
3. Chennai /%|T>|_st
4. Kolkata / PIIPIAT



Correct Answer :-

« Delhi/ fawett

28) The Madhya Pradesh State Industrial Development Corporation was founded in / HH

W= 1Y e fawr fAmm & witoAr w9 g o
1.1972
2. 1966
3. 1965

4. 1960

Correct Answer :-
e 1965

29) Kathmandu University awarded a honorary doctor of letters (D.Litt) degree to
in 2016. / FToHIg fayfaeTed = 2016 # P TP HIFG Siaex 3ATh dAcH (S1.fere)
IUTFY & qR¥pd fobar Tl

1. Narendra Modi / :|~>i.§ ﬁ?ﬁ
2. Pranab Mukherjee /Wﬁﬁﬁﬁ

3. Karan Singh /Wﬁi—ﬁ'

4. Manmohan Singh /q:ltn_ef:[%—s'

Correct Answer :-
« Pranab Mukherjee / TOTS TSI

30) National Food Security Act was passed in / ?T@'Cr SRt #
urie fear T AT

1. 2005
2. 2009
3. 2016

4. 2013

Correct Answer :-

e 2013

31) If REGIMEis coded EEIGMR, then how is LAGAAN coded? | af¢ REGIME® EEIGMRA
PIfed forar ST 8, a1 LAGAAN & $A wifed fHar e



1. NAAAGL
2. NAAGAL
3. ALAGNA

4. LAAGAN

Correct Answer :-

e NAAGAL

32) If INDIAis coded HLAEV, then how is AMERICA coded? / Gf& INDIA &t HLAEVY
PIfed f5ar ord1 8, @ AMERICA Y 4 HifSd forar Srm?

1. ZKBNDWT
2. ZKBNDVT
3. ZKBMEVT

4. ZKBNCWT

Correct Answer :-

e ZKBNDWT

33) Complete the series choosing the missing letter/s: / Ul &R/ A& B EGEZELCRI | T P
__bcdbc__dcabd__bcdbc__dc__bd

l.¢c,c,¢cccC

2.d,d,d, d, d

3.b,b,b,b,b

4.3,a,3,3a,a

Correct Answer :-

34) The series given below contains a sequence of numbers. Identify the incorrect combination: /:ﬁ%liﬂ

E ST §, TBA13M1 T TP HH SR ¢ | TAd JaIei+ Ugdan-u:
8,13, 21,32,47,63

1. 21

2.13

3.47

4. 63



Correct Answer :-

e« 47

35) The series given below contains a sequence of numbers. Identify the incorrect combination: /i ﬁ

TS e #, Gl &1 U HH IufRId § | Tad WAl Ugan=e :
47,43,41, 37, 36, 31, 29

1. 47

2. 41

3.29

4. 36

Correct Answer :-

e« 36

36) Kandlais a seaportof_ _/ $SdT___ Tod T TP JHA! 9678 B
1. Gujarat / [oIRTd

2. Tamil Nadu / Af8d arg

3. Andhra Pradesh / 3% TG RT

4. West Bengal / FIEEKUIG

Correct Answer :-

e Gujarat / 7]SIR[d

37) In a certain code language, forak klol loak means tie the knot, klol seda ferma means
the sharp knife, and loak goak woak means b/ue neck tie. Which is the word for forakin
that code language? / T W™ IS YT ff, forak klol loak 1 314 tie the knot; klol seda
fema &1 34 the sharp knifeddl loak goak woak T 3 f blue neck tie EflT-IT %I | Bl YT A
forak % forQ T TIeg @1 SXHTA fpaT T 82

1. knife

2. knot

3. sharp

4. tie

Correct Answer :-

e knot



38) The first passenger train in India was started in the yearlmﬁ%ﬁaﬂﬁ?ﬁ
39 99 3= g8 A

1. 1853
2. 1753
3.1932

4. 1850

Correct Answer :-

e 1853

39) In the following question, some group of letters is given, all of which, except one, share a
common similarity while one is different.
Choose the odd one out:

= A o 31eRY & 7 I4E R §, R | te ) Se®? A Jft v JuHar welkfa #d @
wafe Te 39 A B

TS fauy 919 Sifore:
1. KLM
2. PQR
3. BCD

4. NPR

Correct Answer :-

« NPR

40) Select the option that is true about the Statements and Conclusions given:
Statements:

All boys are players

No player is bad

Conclusions:
I. No boy is bad
I1. All players are boys

/ 39 faweg &1 au-1 S Sife 3y o Fy=T iR eyl & ar & 9dt @
BY:

Wit wse st §

oI¢ fears g et &

Ao



I. BIE TSPT R 181 @
11. 3ft feerdl ass &

1. only conclusion Il follows / Fad (pY || WW%

2. only conclusion | follows / Had sy | &WW%

3. neither conclusion | nor conclusion Il follows /:fﬁﬁﬁb_ﬁfl \’rﬁ?:léjfﬁmﬂf Il WW%
4. both conclusion | and Il follows /ﬁmv_ﬁfl 3Rl EPFﬁ &WW%

Correct Answer :-

« only conclusion | follows / &Had Y | G'ENTUTWT%

Topic:- Mental Ability and Mental Aptitude

1)
2 : 2
Which of the following is greater maml;? | fFateiEd & @ i “E T HEE g1 87

159

7
4, 12

Correct Answer :-



In the sequence shown below, which figure comes next? / ==l T3 a7 && #, 33Tl
TSI Hied | IRE?

4,

Correct Answer :-

| sent fifteen parcels of oranges. What was the total weight of the parcels, if each

weighedﬂ]% kg?fﬁﬂﬂﬁﬁmqﬁﬁaﬁmmﬁmmﬁﬂm% fomar 1 &

dl URTET &l Fel dotel T AT?



1. 147.5
2.137.5
3.127.5

4.157.5

Correct Answer :-

e 1575

4)
&

Which of the following is greater than 5 2

? ;ﬁmﬁ@aﬁwmm%mmm

u1.|‘1,_;"‘_..|

[ ]
h-:'|.:.

4.

Correct Answer :-

40
3
5)

If the following two squares shown below overlap, which one of the following options

is formed? / af¢ &Fa g7 91 wfdemua 8 &, O == & 4 &9 @1 vF AFeq aaa1 27
= o

0 e

p—




o
—
ol
|:">.
ol

Correct Answer :-

6)

In the sequence shown below, which figure comes next? / @il &3 &1 &H #, Helr
HTHf i T 3Er?

< X2 4] |

1 u m iv




: -
3.
4.

Correct Answer :-

7) Abhi and Prem together have Rs. 6,000. After giving Rs. 700 to Abhi, Prem finds that he has 1/3 of
the amount Abhi has. If so, then how much money did Prem have in the beginning? / AfH MR UA P

U $a FIaT 6,000 U2 &1 31U B 700 TUA A & UYTT UH H 714 SiaT & 6 ITS ury fYy
B YRR BT 1/3 g1 fS T ], I IR F 097 & U fpait emafr 82

1. Rs. 400 / 400 3
2.Rs. 2,200 /2,200 3UY
3.Rs. 1,600 /1,600 300

4.Rs. 1,000 / 1,000 3T

Correct Answer :-

« Rs. 2,200 /2,200 398

8) Simple interest on Rs. 1200 at 18% per annum for 9 months is: / 9 'Flé’ﬁ & ﬁl'q 18% Ufd af W
1200 FUY R ATYRYT ST a1 3:

1. Rs. 191



2. Rs. 162
3. Rs. 108

4. Rs. 120

Correct Answer :-
e Rs. 162

9) The average of three consecutive numbers is 15. What is the new average when the three numbers
are multiplied by 3? / T HHRTA TBATSAT BT TG 15 31 T I J@TT 3 | YOG ot &g, )
ST 74T 3T T G2

1.42
2.40
3.50

4. 45

Correct Answer :-

10) If 15% of water bill is reduced from the original bill, then Rs.170 will be the balance to be paid.
How much was the original bill? / fg 15% Ul &1 fy @, ga foaer & & ) <1 8 & Yo s
D Y R 170 TUA R | g e e 4

1. Rs. 200/ 200 3090
2. Rs. 270 /270 3T
3.Rs. 170/ 170 3T

4. Rs. 185 /185 3T

Correct Answer :-
« Rs.200/200 309

11) The different between two numbers is 20 % of the larger number. If the smaller number is 20,
then the largest number is: / a =13 & S &1 3R, Tﬁﬁ TS BT 20% %I 'Clﬁ DI TWT 20 %
A ISt S B

1. 80
2.50
3.45

4.25



Correct Answer :-

e 25

12) Which one of the following four addresses is NOT EXACTLY same as the one given

below? / fA% f33 T4 IR yal & & 2 fRd A 1d & St a9 o149 91 T 81 22

Raffael Hertz
18/8 Bangna-trad Rd Moo7,

Bangchalong, Amphur Bangplee,
Samutprakarn10540, Thailand

(i) Raffael Hertz
18/8 Bangna-trad Rd Moo?7,

Bangchalong, Amphur Bangplee,
Samutprakarn10540, Thailand

(ii) Raffael Hertz
18/8 Bangna-trad Rd Moo?7,

Bangchalong, Amphur Bangplee,
Samutprakarn10540, Thailand

(iii) Raffael Hertz
18/8 Bangna-trad Rd Mo07,

Bangchalong, Amphur Bangplee,
Samutprakarn10540, Thailand

(iv) Raffael Hertz
18/8 Bangna-trad Rd Moo?7,

Bangchalong, Amphur Bangplee,
Samutprakarn10540, Thailand

1. iii



Correct Answer :-

13) Raju age after 15 years will be 5 times his age 5 years back, what is the present age

of Raju? / 15 a¥ UYTd 5] B 1Y, 5 a9 gl IS P1 1Y BT 5 AT G | Ie] BT FAAT 1Y AT
2

1. 14 years / 14 9
2. 15 years /15 a9
3. 8years/83|'5f

4. 10 years / 10 CL

Correct Answer :-

e 10 years/ 10 Gl

14) Prabhu was 4 times as old as his son 8 years ago. After 8 years, Prabhu will be twice
as old as his son. What is the present age of Prabhu? / 8 a4 Ugd Yy 3 qa q4 AT d8T
4TI 8 9 UYTd, UY 3= YF I SRET g | UY B T 3 T 32

1. 40 years / 40 CL
2.30 years /30 3%
3.45 years /4534

4. 35 years /3599

Correct Answer :-

e 40 years /40 CL

15) Yukta gets Rs. 350 to buy fruit and vegetables for her mother. She buys fruit worth
Rs. 148. How much money is spent for buying vegetables, if she returns Rs. 42 to her

mother? / gadT 3 (U=t BT & fig wa ok Afowai @dieA 39 350 U4 Ui fbu| 39+ 148 Tl
Ued & Bd @IS | afe a8 U= 6T B) 42 TUY g Hdl @ o I9 Afowrar wied & e fa
0 T fHhu?

1.Rs. 196 /196 3Ud
2.Rs. 178 / 178 304
3.Rs. 202 /202 04

4. Rs. 160 / 160 34U

Correct Answer :-

e Rs. 160 /160 304



16) Two angles of a triangle are in the ratio of 3 : 5. If the difference of the angles is 309,
how many degrees will the largest angle in the triangle have? / T® Polus a3 s

& Igurd A 1 afe HIon &1 3ax 300 B A Frwior & daw wior feas f&3h &1 ghme
1.75°
2. 80°
3. 70°

4. 65°

Correct Answer :-

17) Forty men can finish building two-fifths of a wall in 20 days. How many more men
should be put to work to complete the remaining portion of the wall in the next 20 days?

/ 20 f&t ® Ire U9 T AR &1 2/5 fAuior IR % 9@d 1 3rTa 20 o ° SlaR & /9 Ui
B R B & AT fFam iR siftres g=ul &Y Hrf wr @ anfgee

1. 40
2. 80
3.20

4. 60

Correct Answer :-

18) The total time taken by two trains to cross each other is 20 seconds. The speed of
both the trains is 10 m/s. What is the combined length of both the trains? / ¥l gRT
TH-goX B UR I F Rran a1 o 907 20 A6vs 71 A1 val it 1fd 10 He/Awvs g1 gl
Il B Igad qETE T 8?

1.100 m /100 HIR
2.200 m /200 Hicx
3.300 m /300 Hicx

4.400 m /400 HieR

Correct Answer :-

« 400 m /400 Hcx



A can finish a work in 18 days and B can do the same in 15 days. If A worked for 12 days
and leaves the job; then, in how many days can B complete the remaining work single-

handedly? / A f5ft s &1 18 A1 & oiiv B 3t o &1 15 et & 1 Hr wpar 31 Af A 12
ft & fore o Fean 8 3R R ol s a1 7 @t B 3/l 91 g€ Fd &1 T fat & @1 2

1. 6 days / 6 fa
2.4days/4ﬁ:f
3.7 days /7 &A1
4. 5 days /5T

Correct Answer :-
e 5days /5 faa
20) CANCELLED

The difference between the place values of 6 and S in the number 326549 is: / 326549 =T 6 3R 5

& TR 1 & i BT 3R R
1. 1500

2. 3500

3. 900

4. 2500

Correct Answer :-

« 900

21) The cost price of a television is Rs. 2400, which is 20 % below the marked price. If it
is sold at a discount of 16 % on the marked price, then, find its marked price, selling

price, and profit? / U® oA &1 49 Yeu 2400 IR ¢, ! & 3ifpa goa | 20% FH 21 afe
I Sifrd Teu TR 16% B Fe U 31 91T 8, @ I Sifpa Yeu, faspa ged iR a1y 91a B3|

1. Rs. 4000, Rs. 3520, 6%
2. Rs. 3000, Rs. 2520, 5%

3. Rs. 5000, Rs. 6250, 7%

4. None of the above / SWRIed H I Eﬁ'sc B

Correct Answer :-

e Rs. 3000, Rs. 2520, 5%

22) A trader marks his goods at 40 % above the cost price but allows a discount of 25 %.
What is his gain percent? [ T&% TURI A 3[04 HTH WR H7 o9 I 40% 34U sifera forar
AP 25 % Pt Fe U B ITHT ATH Ufa=a w1 82



1.6%
2.7%
3.5%

4.8%

Correct Answer :-

. 5%

23) The HCF of 2, 3, and 5 is: / 2, 3 3[R 5 T HgWH GHIUGA P &:
1.1

2.0

3.5

4.3

Correct Answer :-

24) If 18 % of a number exceed its 14 % by 45, then the number is / T® HS&IT BT 18%
I9F 14% T 45 4P g, a9 G=I 8

1. 1225
2. 1275
3. 1125

4. 900

Correct Answer :-
e 1125

25) Rahul is ten years younger than Gautam. Ten years hence, the ratio of ages of Rahul
and Gautam will 2:3. Find the present age of Rahul. / gd, Maq ¥ 10 a‘EfEﬁET%I Wa'ﬁf
TYTd, g 3R TaH Bt 3R BT JUTT 2:3 TR | AGA BT TAHTH 3T B 71 De |

1. 10
2.20
3.5

4.15

Correct Answer :-



26) Two stations A and B are 80 km apart on a straight line. One train starts from Station
A at 7 a.m. and travels towards B at 20 kmph. Another train starts from Station B at 8 a.m.
and travels towards A at a speed of 40 kmph. At what time will the two trains meet? / |

I A 3R B T Heft a1 i 80 5t #t gt R T 1 U Yq RIF A A U 7 99 URA B B
3N 20 e ufy der Y i & B B iR W1l 71 T 3 YT B R A UTd: 8 99 YR gl &
3R 40 frH ufa ge1 31 7fa T A Y 3R w1l 31 for 99g R @A) ¥ foreiie

1.9.05 am.
2.9.20 a.m.
3. 8.30 a.m.

4. 9.00 a.m.

Correct Answer :-
e 9.00 a.m.

27) The series given below contains a sequence of alphabets and numbers. Identify the incorrect

combination: /Tﬂ'%liﬂﬂg mﬁ, ar&-rﬁaﬁ?maﬁmwmﬁr%aél W'ﬂ!ﬁmmﬁq
i.3214eeqt4123

ii.3214reqt4123

iii.3214reqt4123

iv.3214reqt4123

1.iv

2.1

3. il

Correct Answer :-

28) Find the average. / 3Na Ferfed|
39,45,51,57,63 & 69

1. 58

2.57

3.54

4.55



Correct Answer :-

e 54

29) A train travels at an average speed of 50 kmph, stopping for 2 min after every 75 km.
How long will it take for the train to reach a destination of 600 km from its starting

point? / T ¥a 50 faift ufy ver &Y i a1 & 9@ w8 B, ot o w75 et ugra 2 fme &
R Tl 1 3 RS ®a A 600 61 & Tidss a® ugaq & fore Yo & fva=n 3wg @

1. 12 hr 14 min / 12 9¢ 14 fime
2. 12 hr 7 min / 12 9¢ 7 fiFe

3.12 hr 21 min / 12 4¢ 21 fiFe

4. None of the above / SWRIgd & q PIs gl

Correct Answer :-

e 12hr 14 min/ 12 9¢ 14 B

30) A tyre of a truck has a diameter of 0.5 m. How many revolutions would it make, if it
travels 275 m? / U% ¢& & UfST &1 T 0.5 Hiex 31 Tl a8 275 Hex &Yy wrar g a a8
fra ufvsraor Hm?

1. 175
2. 450
3. 225

4. 550

Correct Answer :-

e 175

Topic:- Science and Simple Arithmetic

1 —
) If—zg = 24/2, then a= | afe —22 = 2+/2.4l a=
",'u' - *.‘|'_{_

1.4

2.2

4. V2

Correct Answer :-



2)

The value of "m' for which 5™ + 572 =5%is: / 5™ + 572 = 55 H 'm' &l H {1 gET:
1.5

2.3

3.2

4.1

Correct Answer :-

3)
In a motor factorv, five varieties of vehicles were manufactured in one vear, whose brealoup is given
below.
If this data were to be represented in a pie chart, then what will be the angle for vans?

Motor bikes Cars Pickups Vans Mini trucks
6000 3600 1200 800 400

| Uk #eY haell #, & a4 § 5 dE & dTGAl HT 3cUR har @, fSaewr faager @ &
fe=m amam &
afg ag srer urs 9re # Awfaa f&r o= gan, o 99 & e = F o7 g

HAlel 56 | R IECa d= GEilED
6000 3600 1200 800 400

o

1.72

o

2.24

o

3.36

o

4. 60

Correct Answer :-

o

e« 24

4)

If16 —3(a—7) = —14,then a = A 16—-3(a—7)=—-14 B, dla=

1. 19

2.17



3.21

4.13

Correct Answer :-

e 17

5)
In parallelogram ABCD, the value of x,when 24 = 40° is: /| HHAY ﬂH_JBiGI #H, x & A &5 B,

Tdlh 24 =40° &

C D
X
A B
1. 120°
2. 150°
3, 40"
4. 140°

Correct Answer :-

6)
In a guadrlateral ABCD, if £A=80°% B =100° 2C=50°% then«D = A o aaasﬁa

ABCD #, of¢ 14=80° 2sB=100° +C=50°aTsD=__
| 130°
, 100°
5 110°

4. 120°

Correct Answer :-

) Simplify: 3x+2)* + Bx—2)% 1 (B3x+2)3 + (3x— 2)® = w= Fww



1 D4x3 +2x2 4+ 72x — 16
2 Ddx3d 4+ 12x2 + 72«
3. S4x3 + 72y

4 54x3+72x—16

Correct Answer :-

. S4xd+72x

8)
The remainder when (3p® — 7) isdivided by (p — 1) is: s (3p* —7) &t (p — 1)
¥ AT &1 W T b @94 B

9) After spending Rs. 75,000 for remodeling a house, Sania sold the house at a profit of 20%. If the
selling price was Rs. 36,00,000; then, how much did she spent to buy it? / IIFAT A TR I AT R
75,000 TUY Gd HXP 20% & ATH IR TR 94 f3an1 afe W &1 fawa 987 36,00,000 03 4T, ASTATA R
P @ieA & fog fora vud @ fvg A2

1. Rs. 29,25,000 / 29,25,000 TUY
2. Rs. 26,53,000 / 26,53,000 ST
3. Rs. 28,75,000 / 28,75,000 ST

4. Rs. 39,25,000 / 39,25,000 T

Correct Answer :-
e Rs.29,25,000/29,25,000 Uy

10) If the egg shell is treated with solution A and the gas that is evolved turns limewater milky. The

solution A is: / fe 37 Fad ®I A faara & w1y Iu=Tia farar wie aut faw e A9 97 & ur=it
D gRATTATE, A R_TTTAR:

1. HCI



2. H,S
3. KCI

4. HNO,

Correct Answer :-

e HCI

11) Nylon clothes dry up faster than cotton clothes because it: /qﬁﬂﬁ & am%, qgﬁmﬁ
1. Is a porous material / g U TRY qTHUT % |

2. Has low degree of water absorption / 37@ ST SERNYUT & 9 A6 Eﬁ?ﬁ %I

3. Has high degree of water absorption / E:I'Ef T S{ARNYUT i 3= JEAT 8t %I

4. Has good elasticity / 2! TR ma?ﬁél

Correct Answer :-

» Has low degree of water absorption / 3?115( ERECRINUEIRECRIE Eﬁ?ﬁ %I

12) What happens to the rate of photosynthesis / productivity when the temperature is gradually
increased beyond the optimum temperature? / YhIRI Wm Pl R BTH _&ﬁ?lT %, old
argaT iR-9R gEaH argaE | it Y oAt g2

1. Temperature has no effect on photosynthesis / dTUHI B[ UDHTR] TV TR Ebﬁ'st UHIq :@DIUET‘IT % I

2. Productivity decreases / SIGh I hH B STt % I

3. Productivity remains the same / SdIghdl Uch HHTH Qsdnl %I

4. Productivity increases / SdIqdh dl dg ST % [

Correct Answer :-

e Productivity remains the same / SdTad dl Tdh JH[ Qsdﬂl %I

13) The rear view mirror used in the vehicles is: / m | UYdd G’ﬁ CIGIRIG) a@% CIGLH E'CfUT
= gare:

1. Convex mirror / 3«ddl E{d:UT
2. Concave mirror / 3{ddd E'QCUT

3. Plane mirror / JHIA a'chT
4. Parabolic mirror / W?&W

Correct Answer :-



« Convex mirror / 3Id GUUT

14) The electric current flows from: / ﬁg‘q?r YURT ﬁrﬂﬂﬂ'ﬂ' varfed gl &:

1. Positive terminal to negative terminal inside the cell / T & iR YATHS i I BUMTHS cii-d
EIECIN

2. Low potential to high potential / A fava O I=a fava &t 3R
3. High potential to low potential / 3= faya 9 A fava &t 8k

4. Negative terminal to positive terminal of the cell outside the cell / I & 916% YA & BUMHAS i o
YT T 3T ok

Correct Answer :-
« High potential to low potential / 3= fqya 3 f= fava 1 iR

15) In a box type solar cooker, the part which is responsible for producing greenhouse effect is: /

9T 15T HieR $B A, Sl HIT FHETSH UHTE S~ B P T I«Rardl 8, 98 &
1. Glass sheet / &id P1 Qi
2. Black coating inside the box / S o UiaR &1 FIeht difeT

3. The vessel in the cooker box / PP CICRREECRE]

4. Plane mirror reflector / JHA E"d:UT RIddh

Correct Answer :-

« Glass sheet / Hid @I Qe

16) The kind of tissue in plants that divide actively are: / el o UPh YPIR B Hddh W afpg = q
fawifora gran 8, Fre wearan 3:

1. Meristematic tissue / fAHOd® SHd®
2. Ground tissue / HU[ SHdh
3. Dermal tissue / AT b

4, Vascular tissue / W:ﬁ Hdh

Correct Answer :-

e Meristematic tissue /ﬁuaﬂw Hddh

17) An embryo grows in to a baby. Which is the most active process that happens for this change? /

THYUT §3T 51 R 9741 8 | 39 ufkad & e waifee aftra uftear &1 dt gt 82
1. Mitosis / JHIAUT



2. Meiosis / GIW'UT
3. Repair / gUR

4. Digestion / UTd-

Correct Answer :-

« Mitosis / JHIAT

18) A well / pond, with all the natural animals and plants, remaining in a balanced state is an example
of: / T F3HI/ATATE BT THIT UTP T UR[SM a4T Nl & A1y, Tferd srawyr o a9 g1 = &1
ETERT &:

1. Population / STHIAT
2. Biosphere/éﬁﬁ@ﬁ
3. Ecosystem / UTRTRUfd®! T3

4, Community / 9HalI

Correct Answer :-

e Ecosystem/ uiRfufde! a3

19) Select the most correct definition of osmosis. / URTHRUT & ga Ifera gy &1 9 HY)

1. Movement of solvent molecules from its higher concentration to lower concentration. / RESR3Y q
5 wigor & faare Sugsii &1 wfd |
2. Movement of solvent molecules from higher concentration to lower concentration of solution through a

permeable membrane./W@Wﬁ%ﬂTmﬂﬁ, I gigur ¥ 9 gigur & foqa | faars
L3 Y Il |

3. Movement of water molecules from a region of higher concentration to a region of lower concentration
through a semi-permeable membrane. / T &W%ﬁ%mm ﬁ, I GIgu &b & A
e o &3 1 §d & U3 Bi |

4. Movement of solute molecules from lower concentration to higher concentration of solution through a
semi-permeable membrane. / THURITR fareai & T1eAd ¥, 9 Tig0r ¥ 3= Wigur o faaa= & fao srogsii
CARIIGT

Correct Answer :-

* Movement of water molecules from a region of higher concentration to a region of lower concentration
through a semi-permeable membrane. / Y& HWW%HTW @[, I IS & &F A
BESIFUEREE R KR

20) The low pressure area at the centre of a cyclone is known as the: / Tdh dehdld & a’_ﬁ A HH CIC)

A &7 B 5 ATH A ST ST @
1. Epicenter/&m



2. Fault / QY
3. Midpoint/ﬂmﬁg
4, Eye/Gﬂg

Correct Answer :-

e Eye/ 3‘”’5‘

21) Kharif crops are also referred to as: | THE B BT Bl s'ﬂ'\ﬁ ft '\‘Eﬁh far siran %:
1. Winter crops / fid Bd CINICRE

2. Summer crops / Ut Bd CINIR ]

3. Rainy season crops arlsn‘m GI]] W@f/

4. Spring crops / S8 Bd NI RINE

Correct Answer :-

» Rainy season crops auf Bd qTelt B/

22) Identify the techniques which help in achieving the sustainability in agriculture. / 3+ GEiCak:dl
T8 &%, S $IY # FURUTaET ured o1 # 9g® gl 2|

1. Crop rotation only / s T st

2. Mixed farming only / R fifsa @

3. All the above /B’tﬂg[a%rmﬁ

4. Using improved varieties of crops only / s ol Bt I=1d forwl T IUTNT HIAT

Correct Answer :-

 All the above /B'CI?EITJR‘TH'J-?[

23) Divers wear special suits in order to protect them from: / MarER a2y qc ueﬂ?r %., m CEC]
& f?l'll{':

1. Low pressure / IREKAC]
2. Low temperature / BEGIELIS]
3. High temperature / 3= dTUHIH

4. High pressure / 3= qld

Correct Answer :-

» High pressure / 3= qld



24) Tadpole is the developing stage of: 1[5 DT fapTa=ita @R e:
1. Snake / AT

2. Butterfly / fordett

3. Fish / A&l

4. Frog / Tedh

Correct Answer :-

. Frog/m

25) If the angles of a quadrilateral are in the ratio 2:3:4:6, then its largest angle is: / gfe Udh ﬂﬁgﬁ &
PN BT U 2:3:4:6 B, A SHPT HIQ TST HIUT BT HIY f=7 g

1172
2. 154
3. 138
4. 144

Correct Answer :-

26) If the perimeter of a square is 72 cm, then its area is: / Tlﬁ Th Tt &1 ufwTg 72 3. %, @ EXCal
&A% d = ghmm

1.324 sqcm [ 324 it I,
2. 244 sq em / 244 T T,

3. 288 sq cm / 288 I T,
4. 144 sq cm / 144 37 Q.

Correct Answer :-

e 324 sqcm [/ 324 o I

27) The circumference of a circle of radius 7cm is: / 7 ﬁ IES] ?ﬂ?r Ud ol 1 gify A= Eﬁ"ﬂ':
1.22cm /22 9.

2. 49cm / 49 T,

3. 54cm / 54 TH.

4. 44cm / 44 T,



Correct Answer :-

o 44cm /44 T,

28) The least number to be multiplied with 231525 to make it a perfect cube is: / 231525 Pl fra it a
B} @ @Y 7o fbar wiTe % g gof avf & @

1.7
2.5
3.3

4.2

Correct Answer :-

29) How many cubic blocks of wood of side 20 cm can be cut from a block of wood having dimensions of

2m, 80 cm, and 40 cm?/WWWW,WWZ‘ﬂ., 80@111.3?-"40%.%','\&20%.
YOIT AT fFa TP R TP BT ol THd 82

1. 50
2. 100
3. 80

4. 60

Correct Answer :-

30) Two years ago, a village had 16,000 people. In the coming year the population increased by 10%. But
in the next year, if some people had left the village and the population had decreased by 18%, then the

present population will be: /a’ratfus?r,wmaﬁ 16,000?ﬁ1TQ'| 3 91 98 H SEBI | 10% Bt
3fS §31 Afed 3Tal ad, $© AR & 7id BISHY Tad T I HHST A AfS 18% Y HHI g5, A I8
$1 g9 SE A R

1. 14,532
2. 18,432
3. 12,832

4. 14,432

Correct Answer :-






